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1) 53-38 2) Factorisef2 + 10f + 16 3)  $118.00 earning 9% compound
interest for 3 years.

Answer: Answer: Answer:

4)  Increase 50 by 12% 5) Find the range of the following set of data: 6) Factoriseq?+5q+6

2,56,1,1

Answer: Answer: Answer:

7) 8) 1076 + 17, 9) Factoriseq? + 8q + 16

19 J Find VVolume of Cone
e
17

Answer: Answer: Answer:

10) Factorise g2 + 8q + 16 11) Factorise g2 + 8q + 16 12) Find perimeter of

square having each
side (s) equals 62 cm

Answer: Answer: Answer:
13)  Findthemedian of the following set of data 14) A number is chosen at random from 15) 85-45
20, 31, 30, 19, 24, 23, 23, 39, 17 1 to 25. Find the probability of
selecting factors of 7 and 8.
Answer: Answer: Answer:
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16) Round 10.95290649 to 4 decimal 17) Anamount was decreased by 6.2%to || 18) 13/, x 291,
places. $467.00. Find the origina amount.
Answer: Answer: Answer:
19) 131, x 201, 20) 812+28 21) 9+7-1-2
Answer: Answer: Answer:
22) 9+7-1-2 23) 17134 x 317 24)
Find the next three numbersin
the sequence
25,26,130,131,655,656,3280__, ,
Answer: Answer: Answer:

25) (-5) - (-98) 26) 27) Find perimeter of
Find the next three numbersin b rectangle having
the sequence sidesa=85 ft
37,28,42,33,47,3852__, , a and b =67 ft

Answer: Answer: Answer:

28) 33/, x 5%/ 29) Decrease 60 by 85% 30) Decrease 60 by 85%

Answer: Answer: Answer:
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Answers:
)15  2)(f+2)(f+8) 3) $152.81 4) 56 55 6) (q+2)(q+3) 7)1437.5404384051
8)2Y 9 (q+4)(q+4) 10) (q+ 4)(q + 4) 11) (q+4)(q+4) 12) 248cm 13) 24 14) 9
15)40  16) 10.9529 17) $438.05 18) 65 19) 65 20) 2.9 21) 13
22)13  23)5Y4 24) 3281,16405,16406, 25) 93 26) 43,57,48, 27) 304t 28) 20%/g

2999 309
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